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Welcome Back Warm-Up: 7.4 That Was SO Last Year!

Multiple Choice
Identify the choice that best completes the statement or answers the question.

Q/ 1. Find x. ‘ - 2“}\
»«/7 O k=20

-

a. 16 c. 20
b. 18 _ d. 21
2. AABC ~ ALMN, AB =18, BC =12, LN =9, and LM = 6. What is the scale factor of A4BC to ALMN?
- . 2
b 3 0 2

Cj 3. If AKLM ~ AXYZ, find the perimeter of AXYZ.
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Short Answer

4, Given AABC~ADBE. If the perimeter of ABC is 108m and the perimeter of triangle DBE is 24m, find all
variables.

X+tbap =ad
Wtb+y =Y
I = e !
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5. If the perimeter of ALMN is 35 units, find eaeh-side-tength-ofthe friangler

7. The perimeter of ABDC = 576cm and the perimeter of AADB = 768cm. Write the similarity statement, then
final all variables. Show your work.

rasc-rBDC ~a ADR
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